ST 265y i = X 15
AR 4 - BT B S E
e R ks @ A o w4 [P PEEERTIBEITOGES
7y A T Fo SR BB PN D F2 P L 0k ’ fﬁm 2%&’@ 2{0 B ’ |
ERLEASR D Hitl 30 | 1.1 |4 3.8 5. Ofd 4. 7jd 4.7
=y ik 30 | 1.1 [ 4. 40 3. o0 2. 2l 2.2
5 BT R s 30 | 1.1 [4f 2.8 3. 9% 3.5 3.5
1A K2 AT P 2 AR B 355 PR D JE Rt DX —|#l 5. 2 5.3 — —
EELIA 0 i 30 | L1 6.9 1450 2.8l 2.8
1T LR gfﬁﬁﬁkwﬂ%t&fﬁ@?ﬁ&b HITWHHL | — | B EaEE ey - —
L RCLASR D HEg 40 | L1fPe9f 14 - -
A ERZ T;Eﬁﬁi*@twﬁﬁiﬁi&ﬁ@ﬁ:’&) HAILTHHHE | 30 1.1 |J& L 38 b e v i
RERLAA 0D Hitg
1 REERE N o 2 A O —h oo gl 4.7 | —
2 bR O IR 30 | L1 6.9 14 2. 8% 2.9
A JIET B gﬁﬁﬁhwﬁﬁiﬁf&iﬁwﬁb LRLTWAHL |30 | 1.1 Jﬁthﬁlﬁth‘i‘%ﬁ%tﬁﬁﬁtt’&
_EEELIS 0> itk 30 | 1.1 B0 2. 60 3. 8% 3. Ol 3.0
oy JIET L ET gfﬁﬁﬁtwﬂﬂﬁiﬂf&@ﬁz&b HILTWAHL (40 | 1.1 Jﬁtt@EtﬁﬁLbb@Ebh@
LFELLS D i
1 RRREHR N O 2 Al b —l 5. 00 5.3 —| —
2 _ERCEA DR 40 | L1|F 7.3 1450 2. 850 2.8
HETRA g 30 | 11| 2.7 3. THE 5. S[Z 5.8
ERALIE 2" S R R BT P 0D B I —Jhti 2. SE .0 —| -
ERLLA o> it 30 | L1|% 6.5 145 2,866 2.8
EPl Py o SR B P 0D o P L UK ot 2. 880 400  —| —
RERLIA O I 40 | 1L1|F 6.9 14F@ 2 sr(»ﬁ 2.8
WIRTRE L - 2T B2 — | BBAR B LY P v b v
1T 4 2 1 g 30 | 1.1 [WE 2. 600 3. 70 5. 8l 5. §
T T 8 Eseen 30 | 1.1 [# 2.6 3. 7?@ 2. Offi 2. 0




ST 265y i = X °H
AR 4 - BT B S E
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
5 HIETRE Eein 30 | L1 2. 6 3. @T@ 3. orm 3.0
BT AZ I Eﬁﬁ-@k@ﬂ%iﬁf@iﬁ@fﬁb HILTAHH |30 | 1.1 Jﬁtt%%r;ttﬁéfﬁttﬁfﬁtﬂ%
RFRRLIA D Hitke
1 REERE N O = A R —fl 2. 86 4.0  —| —
2 EREEMA O 30 | L1|T6.5F 13% 2.80 2.8
EplEIE-<0) = R LI PN oD 2 S I —l 3.0 4.1 —| —
LFRLAS O iR 30 | 11| 5.0 6 9l 4. 8l 4.8
BT AT ﬁ?ﬁ%@t@ﬂ%iﬁfﬂiﬁ@?ﬁ&) LITWDH |30 | 11 %th@%ttﬁ&tt%ﬁtb@
EELIA O Hi 30 | L1[h 2.6 4. oﬁ 2.8 2.9
o NET & B gﬁ%@twﬁﬁi@ﬂﬂfﬁwﬁb LRTWAHL 30 | 1.1 JﬁthﬁEtﬂEmtﬁ%ﬁith“&
ERCEASR D il
1 BEEEREHIE P o A K0 ot 2.60 3.7 —| —
2 FELS o 30 | L1 6.9 145t 2.0 2.0
ERULIE: gzt 30 | 1.1 W0 2.8l 3. TG 3. 1L: 3.1
T 55 4 ESEY 30 | 11| 2. 7R 3. 7 2. 3h 2. 3
Pl EIpRks Eeet: 30 | 1.1 W 2.6 3.7l 5. Offi 5.0
drJIET = SE TR B AR PN oD FR R i X —f#l 2. gl 3.7 — —
LR oo sk 30 .14 6.9+
RIS O By 30 | 1.1} 2.9
HETEE ey 30 | 1.1l 2.8
1A BT @ﬁ?ﬂ@t@ﬁﬁﬁéf@ﬁj@ﬁ&) BAILTNADHL | — | Bk | LLHEE
LELEASR > iR
1 ERRER B PN o 2 R il s —t 2.8 400 —|  —
2 LERLS o 40 | L1 e 14 - -
EPLLIRE = gt 30 | 1.1 [ 2. 90 3. 90 2. ol 2.9
ErlLiNEe 1) Esei 40 | 1.1 A L IEE b T T L




&F0 265y i = X 3E
i BCET A4 . BT & IS E
S (TR wass @M m oW g [P ACEERTEECEA RS
S BT [ BT gﬁﬂ‘?r@k@ﬂ%iﬁfﬂmﬁ@ﬁé&) HILTNDHEL —% %ﬁgﬁttgﬁtﬁ;‘ﬁbbéﬂittg ’ ’
ERELASN D iR
1 REEHRGUMIE PN 0 2 A —fl 2.8 4.0 —| —
2 EELPS Ot 40 | L 1|7 6.9 1440 2. 8%k 2.8
HIETIEET 1~ 3 T B|4sk — | B J%ttz%ﬂti‘éﬁibti’éﬁtt%%
HIETEE 1 ~3TE$F€?§+@L0)H§%%1@EODE&> LHNTWAH | — | BB#K Jﬁttiﬁ’;tti‘% - —
ERRLAA o Hitksk
1 REEIRBE G o B A il O it 2.8l 400 | —
2 LSO K 40 | L1|# 6o 14 | —
A EIET IR 30 | 1.1 1.5 3. 6l 2. 85 2.8
NEERI OO %ﬁ%@twﬁﬁﬂﬁ@ﬁwanTwém
1 BEFR A e — | BRAR | bR b b b
2 _EILISN o HE, 30 | 1.1 J%ttfé’,;ttzéfﬁtt@ﬂittf%
_ERLLASN D i
1 IR o 5 A Hl O —fh 2. g6l 4.0 | —

2 _kFRLMA o Hi 30 L1 6.9 146 2,80 2.8




